Cnucok YJamuxcda 1 BAKAHTHBIX MECT B

MBOY "do0psiHckasi 0CHOBHAs 0011e00pa3oBaTe/ibHas mKoJaa Ne 2"
Ha 01.10.2012r.

39/4 xnaccoB (43 kiacca)
KoJu4vecTBo ydammuxcess 938/63 (1001)

la— 24 (1 mecto) 2a—25 3a—27 4a — 24/1

16 — 19 (6 mecT) 26 —24/1 36-/12 46 — 26

1B — 20 (5 mecr) 2B — 25/1 38—25 4B — 25/1

Ir- 25 2r — 24 (1 mecto)  3r — 24(1 mecro) 4r - 23 (2 mecTa)
1mx—21 (4 mecra) 21-25 3n—27 4n - 25

5-109 (16 mecT) 5-123/2 (1 mecto) 5- 105/11(1 mecto) 5—120/5(2 mecTa)

1 -4 kaaceol = 19/1(20 knaccoB) — 457/18 (475), 20 BaKaHTHBIX MeCT

5a—30 6a— 24 (1 mecTo) Ta—25 8a- 25 9a - 26
5626 66 —23/1(1 mecro) 76— 26 86— 25 96 — 22/1(2 mecra)
5B—28 68 — 19/3(3 mecta) 7B —24/1 8B - 26 9B - 26
S5r— /10 (2 mecta) 6r—2/11 Tr — 25 8r—25 9r — 19 (6 mecT)
4 —84/10 (2 mecta) 61— 24/1 7 - 1/10 (1 mecto) 8x—11/5 4-91/3
5-92/16 5-102/11 5-112/5

5-9 knacewl = 20/3 (23 kaacca) — 481/45 (526), 16 BaKaHTHBIX MeCT



